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2. A trapezoid has exactly one pair of paralll sides and at
‘most one pair of congruent opposite sides.
A kite s two pais of consccutive congruent sides and
‘one pair of opposite congruent angles.

2. Stope of 8

=1

s 1D _ 31
Sopeof D=0 = 2= -1

“The slopes of 18 andCD ae no the same, so 15 i not
parallel to CD.

Slopeof BC

—2-4

“The slopes of B and 3 ar the same, s0C | DL

‘Quadilateral ABCD has exactly one pai of parallel
Sides. ABCD is a trapezoid.

“The slopes of 18 andCD ae no the same, so 15 i not
parallel to CD.

Slope of BC =

Slope of DA = —s— 3= =3

“The slopes of AC and DA are ot the same, soBC s nc
parallel toDA.

“The quadilteral ABCD i not  rapezid besause it
does ot have exactly one pair of parale sides.

5. Slope of 18

Slope of CD =
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5. Slopeof B = g~ =
oAy
Stope of &5 = — 2 = =1
“The slopes of 7B and CD ar not the same, so B is
parallelto CD.
Slope of BT
Stope of D1
“The slopes of BC and I are not the same. 0 BC i
parallelto DA
‘The quadriateral ABCD is not a trapezoid because it
does not have exactly one pair of parallelsides.

Slope of 4B
Slope of CD
“The slopes of 18 and € are the s, s 15 | CD.
Slope of IC
Stopeof 7
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“The slopes of BC and D are not the same, s0 5C is not

paralel 1054

“The quadslateral ABCD has exactly one pair of parallel

sdes. ABCD i a trapezoid.
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100 m£) = 150° ~ 100" = 50",
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S mZL = 180° — 115" = 62,

&

10 Both pairs of base angles are congruent so the
quadrilatera s an isoceles rapezoid by Theorem 814

1. Because there are exactly two rightangls, thereis
exactly onepaie of paralelsides. S0, th quadilateral is
atapezoid.

12, Nota trpezoid; £J and M, and ZK and ZLare
supplementary by the Consecutive Intrior Angles
Theorem. Because bothpairsof opposit angles are
congruent, JKLM is a paralllogram.
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6. D; Not all trapezoids are isosceles. So the legs ofa
rapezoid ase not always congruent

17, There is only one pai of congrunt opposite angles ina
kit These angles are the two that join the non-congrucnt
sides. So,mZA = 360° — 120° — 120° — S0° = 70°.
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18. mLE+mLG+mlH + mLF =360
mLG +mLG+ 1007 + 140° = 3607
2AmsG) + 140° = 3607

meG =10

19 LG+ mLF 4 mLH + mZE = 360
MG+ 110+ 110° + 60° = 360°

20 mLE 4 mLG + mLF + mlH= 360"
LG+ mLG+ 150"+ 90° = 3607
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24, The length of the midsegment of a rapezaidis notthe
difference in lengths of the two parallel sides. It s
one-half the sum of the two paralll sides.
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MP=VB - (3P CI-SF =V =62
NQ= V(-1 = (=5 + (5 - (-1)? = V32 = i3

“The lengths of the diagonals P and N are not
congruent, so trapezoid MNPQ is not isosceles.





